Scenario I
Dangerous Dessert Company
Dangerous Dessert Company (DDC) was formed in 2005 to produce desserts that would appeal to the expanding market for high quality, organic products. DDC has grown rapidly in recent years and now offers a wide range of deserts, including: baked products, fresh fruit products, fresh dairy products, chocolate-based products and ice-cream.

The ice-cream division, which was formed in 2010, produces a range of different flavoured ice-creams at DDC’s factory in Essex. However, the product range that has made the greatest impact on the market-place is the division’s range of vanilla ice-creams: Single Whammy, Double Whammy and Triple Whammy. The company’s vanilla ice-creams are made from organic milk and cream sourced from Jersey, organic vanilla pods from Madagascar (that are reputed to be the best in the world) and unrefined castor sugar from Cuba. While the division is free to source its other ingredients – eggs etc – from accredited organic suppliers, the division must source its key ingredients from Jersey, Madagascar and Cuba since it has built its reputation by using ingredients from these countries. This, inevitably, creates supply problems since the key ingredients are often in short supply due to demand from other competitors, supply shortages due to growing conditions, political problems etc. These problems have also been exacerbated by the need to obtain more ingredients from these sources due to the year-on-year increasing demand for the company’s products.

The ice-cream division uses state-of-the-art manufacturing facilities. The manufacturing process from storage to manufacturing to packaging is fully automated.

The manufacturing cycle for ice-cream is as follows:

	Batch 1
	Duration
	Time

	
	
	

	Blending
	2.0 hours
	1200 to 1400

	Pasteurisation
	3.0 hours
	1400 to 1700

	Homogenisation
	2.0 hours
	1700 to 1900

	
	7.0 hours
	

	
	
	

	Aging
	12.0 hours
	1900 to 0700

	
	
	

	Flavour tanks
	0.5 hours
	0700 to 0730

	Freezing
	2.0 hours
	0730 to 0930

	Hardening
	2.5 hours
	0930 to 1200

	
	5.0 hours
	


	Batch 2
	Duration
	Time

	
	
	

	Blending
	2.0 hours
	0000 to 0200

	Pasteurisation
	3.0 hours
	0200 to 0500

	Homogenisation
	2.0 hours
	0500 to 0700

	
	7.0 hours
	

	
	
	

	Aging
	12.0 hours
	0700 to 1900

	
	
	

	Flavour tanks
	0.5 hours
	1900 to 1930

	Freezing
	2.0 hours
	1930 to 2130

	Hardening
	2.5 hours
	2130 to 2400

	
	5.0 hours
	


At present, the ice-cream division can produce 2 batches of ice-cream per day. The output size of each batch is 5,000 kilograms. The factory is shut down for 5 days each year for essential maintenance.

An explanation of ice-cream manufacture can be obtained from the following web site:
· https://www.uoguelph.ca/foodscience/dairy-science-and-technology/dairy-products/ice-cream/ice-cream-manufacture
At present, DDC only sells to retailers. However, it is considering selling direct to the general public.
Investment Appraisal
DDC is evaluating a proposal to deliver ice-cream direct to the general public in central London from its factory in Essex due to the success of other companies – http://www.bofrost.com/competence-and-passion – delivering frozen products to the general public.
The following information was obtained for this proposal:

· Two vans with refrigerated facilities will be purchased at a cost of $30,000 each. The vans have an expected life of five years and will not have a residual value at the end of their life. DDC uses straight-line depreciation.

· The marketing department plans to spend $100,000 on pre-launch advertising. The advertising budget for years 1 to 5 is expected to be $50,000 per annum.
· Van drivers: Two van drivers will be employed in years 1 and 2; three drivers will be employed in years 3, 4 and 5. Each van driver is expected to earn $25,000 per annum.
· Van running costs: Costs are expected to be $10,000 in year 1 then rise by $2,000 per annum for each of the next four years.

· No charge will be made for delivery since a minimum order value of $30 will be set for each order.

· The cost of running central services – accounting, IT – will be increased by $60,000 in years 1 and 2 and by $80,000 for years 3, 4 and 5.
· No new premises are required since the direct delivery business will be run from the company’s factory in Essex.
· The average selling price is expected to be $5 per litre.
· While the cost of the ingredients required to make the ice-cream will remain the same at $1.00 per litre, packaging costs will be $0.20 per litre.

· Factory fixed costs will not be affected by this proposal since the factory is highly automated.

· A consultant was employed to advise the company on this proposal and provide figures for expected demand. The consultant, who has yet to invoice the company, will be paid $21,000 for this work.

· Assume sufficient capacity is available at the factory to produce the ice-cream for this proposed business.

· The company’s cost of capital is 10%.

The following estimate of demand for ice-cream sales in central London was recently provided by the consultant:

	
	Year 1
	Year 2
	Year 3
	Year 4
	Year 5

	Ice-cream (litres)
	30,000
	60,000
	80,000
	90,000
	100,000

	
	
	
	
	
	


Required (Total Marks 30)
(a) Calculate the net present value for the proposal. (19 marks)

(b) Calculate the payback period for the proposal. (3 marks)

(c) Discuss the analyses produced for parts (a) and (b). (8 marks)

Budget

The following budget data was obtained for DDC’s range of vanilla ice-cream:
Vanilla Ice-Cream Recipes

	Ingredients
	Single

Whammy
	Double Whammy
	Triple

Whammy

	Milk
	0.40 kg
	0.30 kg
	0.20 kg

	Cream
	0.40 kg
	0.50 kg
	0.60 kg

	Castor sugar
	0.10 kg
	0.09 kg
	0.08 kg

	Eggs
	0.09 kg
	0.09 kg
	0.10 kg

	Vanilla pods
	0.01 kg
	0.02 kg
	0.02 kg

	
	1.00 kg
	1.00 kg
	1.00 kg


Cost of Ingredients
	
	Cost

	Milk
	$0.20 per kg

	Cream
	$0.80 per kg

	Castor sugar
	$1.00 per kg

	Eggs
	$2.00 per kg

	Vanilla pods
	$20.00 per kg


Sales Price and Demand

	Sales price (Specific gravity is 1.00 ie.1 litre = I kilo)
	$2.00 per kg
	$2.50 per kg
	$3.00 per kg

	Demand (kilograms)
	2,000,000
	1,350,000
	250,000


Overheads

	
	Fixed Costs
	Variable Costs

	Production Overheads
	$900,000
	

	Marketing Expenses
	$1,200,000
	

	Selling Expenses
	$640,000
	Sales commission: 2% of sales 

	Delivery Expenses
	$220,000
	Outside carriers: 4% of sales

	Administration Expenses
	$720,000
	


The buying department is confident of obtaining sufficient supplies of milk, cream, castor sugar and eggs for budget demand. However, it will not be able to obtain sufficient vanilla pods from Madagascar due to a poor growing season. The Madagascar Government has just informed DDC it will be allocated 45,000 kilos of vanilla pods next year.

Required (Total Marks 30)
(a) Calculate the contribution per kilogram for each type of ice cream. (12 marks)

(b) Calculate the profit maximising sales mix. (10 marks)

(c) Discuss the limiting factor analysis prepared for the vanilla pods. (8 marks)

Scenario II

Question 3
Jing started a business on 1 August 2017. The transactions for her final month of trading, July 2017, are:  

2 Jul
Sells goods on credit for £1,500 to Alan

3 Jul
Buys goods for resale for £750 paying by cheque

7 Jul
Alan returns goods costing £150

12 Jul
Sells goods for cash for £600 which is paid into the bank

18 Jul
Pays wages of £120 by cheque

20 Jul
Buys goods on credit for £800 from Chen

21 Jul
Jing withdraws £250 worth of goods for her own use  

28 Jul 
Pays Chen £350 by cheque

Required:

a) Record the transactions in the ledger accounts provided below, close off the accounts and prepare a trial balance at 31 July. When you close off the accounts you should clearly show any amounts to be carried down or recorded in the profit and loss account. 
 

14 marks

NOMINAL LEDGER 


Bank

Capital

____________________________________________
_________________________________________

   
1 Jul  Bal b/d
2,500


1 Jul Bal b/d      
10,000




Purchases

Trade Creditors

_______________________________________
_________________________________________

1 Jul Bal b/d
16,000


1 Jul Bal b/d
6,500

Trade Debtors

Sales

_______________________________________
________________________________________

1 Jul Bal b/d
4,200


1 Jul bal b/d
30,800



Equipment

Wages
______________________________________
       ______________________________________

1 Jul Bal b/d
15,600
1 Jul Bal b/d
6,400



Drawings

Sales Returns In
______________________________________
_________________________________________

1 Jul Bal b/d
7,200
1 Jul Bal b/d
400


Alison – Trial Balance


DR


CR
b) If Alison’s closing stock figure is valued at £3,200, what is her gross profit?











4 marks

           (Please show your workings)
	Scenario II: Question 3                                                                    Total 18 marks


Question 4
  
Jamie Tsz had the following balances on his motor vehicle accounts at 1 January 2017.

Motor vehicles at cost
£10,000

Accumulated depreciation 
£4,000

During the year to 31 December 2017, the following transactions occurred:

1 February
Bought a motor vehicle for £9,000 on credit from MV Motors

30 June
Sold a motor vehicle for £2,000, which had originally cost £4,000 in January 2015
Vehicles are depreciated at 20% on a straight line basis.

Jamie charges a full year’s depreciation in the year of purchase and none in the year of sale.

Required:

Prepare the ledger accounts below to reflect the above transactions. You should close off the accounts at 31 December and clearly show any amounts to be carried down or recorded in the profit and loss account.
Vehicles – Cost ____________________________________________________________
Vehicles – Acc Depreciation ____________________________________________________________
Depreciation Charge

____________________________________________________________
Trade Creditors   

____________________________________________________________
Disposal Account

____________________________________________________________
Bank  

____________________________________________________________
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Scenario II (Q3 & Q4 )                                                                     Total: 30 marks


